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1. Do not open the booklet unless you are 

asked to do so. 

 1. iz’u&iqfLrdk dks rc rd u [kksysa tc rd vkils dgk 

u tk,A 

2. The booklet contains 60 questions. 

Examinee is required to answer any 50 

questions in the OMR Answer-Sheet 

provided and not in the question booklet. If 

more than 50 questions are attempted by 

student, then the first attempted 50 

questions will be considered for evaluation. 

All questions carry equal marks. 

 2. iz’u&iqfLrdk esa 60 iz’u gSaA ijh{kkFkhZ dks fdUgha  

50 iz’uksa dks dsoy nh xbZ OMR vkUlj&’khV ij gh 

gy djuk gS  iz’u&iqfLrdk ij ughaA ;fn Nk= }kjk 

50 ls vf/kd iz’uksa dks gy fd;k tkrk gS rks izkjfEHkd 

gy fd;s gq, 50 mŸkjksa dks gh ewY;kadu gsrq lfEefyr 

fd;k tk,xkA lHkh iz’uksa ds vad leku gSaA 

3. Examine the Booklet and the OMR Answer-

Sheet very carefully before you proceed. 

Faulty question booklet due to missing or 

duplicate pages/questions or having any 

other discrepancy should be got 

immediately replaced. 

 3. iz’uksa ds mŸkj vafdr djus ls iwoZ iz’u&iqfLrdk rFkk 

OMR vkUlj&’khV dks lko/kkuhiwoZd ns[k ysaA nks”kiw.kZ 

iz’u&iqfLrdk ftlesa dqN Hkkx Nius ls NwV x, gksa ;k 

iz’u ,d ls vf/kd ckj Ni x, gksa ;k mlesa fdlh 

vU; izdkj dh deh gks  rks mls rqjUr cny ysaA 
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ELC–404(I) ( 3 )  Set-C 

1. What stock represents ownership and 

enjoys certain preferences than ordinary 

stock ? 

(A) Authorized stock 

(B) Preferred stock 

(C) Incorporator’s stock 

(D) Presidential stock 

2. What represents the ownership of 

stockholders who have a residual claim 

on the assets of the corporation after all 

other claims have been settled ? 

(A) Authorized capital stock 

(B) Preferred stock 

(C) Incorporator’s stock 

(D) Common stock 

3. Aggregation of individuals formed for 

the purpose of conducting a business and 

recognized by law as a fictitious person 

is called _________. 

(A) Partnership 

(B) Investors 

(C) Corporation 

(D) Stockholders 

4. Which is true about corporation ? 

(A) It is worse type of business 

organization. 

(B) The minimum number of 

incorporators to start a corporation 

is three. 

(C) Its life is dependent on the lives of 

the incorporators. 

(D) The stockholders of the corporation 

are only liable to the extent of their 

investments. 

5. Which is true about partnership ? 

(A) It has a perpetual life. 

(B) It will be dissolved if one of the 

partners ceases to be connected 

with the partnership. 

(C) It can be handed down from one 

generation of partners to another. 

(D) Its capitalization must be equal for 

each partner. 

6. What is the simplest form of business 

organization ? 

(A) Sole proprietorship 

(B) Partnership 

(C) Enterprise 

(D) Corporation 
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7. Is an artificial being created by operation 

of law, having the right of succession and 

the process, attributes and properties 

expressly authorized by the law or 

incident to its existence ? 

(A) Corporation 

(B) Property 

(C) Partnership 

(D) Organization 

8. A form of business organization in which 

a person conducts his business alone and 

entirely for his own profit, being solely 

responsible for all its activities and 

liabilities : 

(A) Sole proprietorship 

(B) Entrepreneurship 

(C) Partnership 

(D) Corporation 

9. What is the factor name of the formula 

(1 ) ni   ? 

(A) Uniform gradient future worth 

(B) Capital recovery 

(C) Single payment present worth 

(D) Single payment compound amount 

10. What is the main reason why the sinking 

fund method of computing depreciation 

is seldom used in the industry ? 

(A) Unstable economy. 

(B) Rate of interest cannot be exactly 

determined. 

(C) The initial deprecation is high. 

(D) The initial depreciation is low. 

11. What refers to an imaginary cost 

representing what will not be received if 

a particular strategy is rejected ? 

(A) Opportunity cost 

(B) Ghost cost 

(C) Horizon cost 

(D) Null cost 

12. What method is often used in municipal 

project evaluations where benefits and 

costs accrue to different segments of the 

community ? 

(A) Annual cost method 

(B) Benefit-cost ratio 

(C) Rate of return method 

(D) EUAC 
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13. Capitalized cost of a project is also 

known as __________. 

(A) Infinite cost 

(B) Life cycle cost 

(C) Life cost 

(D) Project cost 

14. What refers to the present worth of cost 

associated with an asset for an infinite 

period of time ? 

(A) Annual cost 

(B) Increment cost 

(C) Capitalized cost 

(D) Operating cost 

15. The unrecovered depreciation which 

results due to poor estimates as to the life 

of the equipment is called __________. 

(A) Sunk cost 

(B) Economic life 

(C) In-place value 

(D) Annuity 

16. The process of determining the value or 

worth of a physical property for specific 

reason is called __________. 

(A) Investment 

(B) Valuation 

(C) Economy 

(D) Depletion 

17. The first cost to be incurred if the piece 

of equipment now in place had been 

bought for a second hand dealer or some 

other business is called __________. 

(A) Material cost 

(B) Fixed cost 

(C) First cost 

(D) In-place value 

18. What refers to the value of an intangible 

item which arises from the exclusive 

right of a company to provide a specified 

product and service in a certain region of 

the country ? 

(A) Company value 

(B) Going value 

(C) Goodwill value 

(D) Franchise value 
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19. What refers to the value of an asset 

which a disinterested third party, 

different from the buyer and seller, will 

determine in order to establish a price 

acceptable to both parties ? 

(A) Book value 

(B) Market value 

(C) Fair value 

(D) Franchise value 

20. Salvage value is sometimes known as 

__________. 

(A) Scrap value 

(B) Going value 

(C) Junk value 

(D) Second-hand value 

21. A mathematical expression also known 

as the present value of annuity of one is 

called ___________. 

(A) Load factor 

(B) Demand factor 

(C) Sinking fund factor 

(D) Present worth factor 

22. What do you call the after-tax present 

worth of all depreciation effects over the 

depreciation period of the asset ? 

(A) Asset recovery 

(B) Depreciation recovery 

(C) Period recovery 

(D) After-tax recovery 

23. Using factor method, the depletion at any 

given year is equal to : 

(A) Initial cost of property times 

number of unit sold during the year 

divided by the total unit in 

property. 

(B) Initial cost of property divided by 

the number of units sold during the 

year. 

(C) Initial cost of property times 

number of units sold during the 

year. 

(D) Initial cost of property divided by 

the total units in property. 

24. The depletion allowance method of 

computing depletion is commonly known 

as __________. 

(A) Unit method 

(B) Percentage method 

(C) Factor method 

(D) Sinking fund method 
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25. Under the depletion allowance method in 

computing depreciation, the depletion 

charge is equal to either __________ 

whichever is smaller. 

(A) Fixed percentage of gross income 

or the net taxable income. 

(B) Fixed percentage of gross income 

or 50% of the net taxable income. 

(C) 50% of the fixed percentage of 

gross income or 50% of the net 

taxable income. 

(D) 50% of the fixed percentage of 

gross income or the net taxable 

income. 

26. What are the common methods of 

computing depletion charge ? 

(A) Rational method and irrational 

method 

(B) Conservative method and 

conventional method 

(C) Unit method and percentage 

method 

(D) Discrete method and depletion 

allowance method 

27. What type of depreciation is due to the 

reduction of the physical ability of an 

equipment or asset to produce results ? 

(A) Functional depreciation 

(B) Design depreciation 

(C) Physical depreciation 

(D) Demand depreciation 

28. What type of depreciation is due to the 

reduction in the demand for the function 

that the equipment or asset was designed 

to render ? 

(A) Functional depreciation 

(B) Design depreciation 

(C) Physical depreciation 

(D) Demand depreciation 

29. The declining balance method is also 

known as ___________. 

(A) Double percentage method 

(B) Constant percentage method 

(C) Modified sinking fund method 

(D) Modified SYD method 

30. In what method of computing 

depreciation where it assumes that the 

annual cost of depreciation is a fixed 

percentage of the book value at the 

beginning of the year ?  

(A) Straight line method 

(B) Sinking fund method 

(C) Sum-of-year digit method 

(D) Declining balance method 



 

ELC–404(I) ( 8 )  Set-C 

31. What is defined as the current assets 

minus inventories and prepaid expenses ? 

(A) Profit margin ratio 

(B) Price-earnings ratio 

(C) Return of investment ratio 

(D) Quick ratio 

32. The common ratio is the ratio of : 

(A) Net credit sales to average net 

receivable 

(B) Current assets to current liabilities 

(C) Gross profit to net sales 

(D) Net income to owner’s equity 

33. What is the basic accounting equation ? 

(A) Assets = Liability + Owner’s 

equity 

(B) Liability = Assets + Owner’s 

equity 

(C) Owner’s equity = Assets + 

Liability 

(D) Owner’s equity = Liability – 

Assets 

34. The ability to convert assets to cash 

quickly is known as : 

(A) Solvency 

(B) Liquidity 

(C) Leverage 

(D) Insolvency 

35. The ability to meet debts as they become 

due is known as __________. 

(A) Solvency 

(B) Liquidity 

(C) Leverage 

(D) Insolvency 

36. What is a government bond which has an 

indefinite life rather than a specific 

maturity ? 

(A) Coupon 

(B) Bill 

(C) Debenture  

(D) Consol 

37. What is another term for “acid-test  

ratio” ? 

(A) Current ratio 

(B) Quick ratio 

(C) Profit margin ratio 

(D) Price-earnings ratio 

38. Gross margin is the ratio of the gross 

profit to ___________. 

(A) Net sale 

(B) Owner’s equity 

(C) Inventory turnover 

(D) Quick assets 
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39. Return on investment ratio is the ratio of 

the : 

(A) Net income to owner’s equity 

(B) Market price per share to earnings 

per share 

(C) Cost of goods sold to average cost 

of inventory at hand 

(D) Net credit sales to average net 

receivable 

40. Capitalized cost of any structure or 

property is computed by which formula ? 

(A) First cost + Interest of first cost 

(B) Annual cost – Interest of first cost 

(C) First cost + Cost of perpetual 

maintenance 

(D) First cost + Salvage value 

41. As applied to capitalized asset, the 

distribution of the initial cost by a 

periodic changes to operation as in 

depreciation or the reduction of a debt by 

either periodic or irregular prearranged 

programs is called __________. 

(A) Annuity 

(B) Amortization 

(C) Capital recovery 

(D) Annuity factor 

42. The flow back of profit plus depreciation 

form a given project is called ________. 

(A) Capital recovery 

(B) Cash flow 

(C) Economic return 

(D) Earning value 

43. What denotes in the fall in the exchange 

rate of one currency in terms of the 

others ? This term is usually applies to 

the floating exchange rate : 

(A) Currency appreciation 

(B) Currency depreciation 

(C) Currency devaluation 

(D) Currency float 

44. What refers to the negotiable claim 

issued by a bank in lien of a term  

deposit ? 

(A) Time deposit 

(B) Bond 

(C) Capital gain certificate 

(D) Certificate of deposit 

45. What is the reduction in the money value 

of capital asset is called ? 

(A) Capital expenditure 

(B) Capital loss 

(C) Loss 

(D) Deficit 
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46. What is used when a quick estimate of 

the doubling time for the invested money 

is needed ? 

(A) Rule of 48 

(B) Rule of 36 

(C) Rule of 24 

(D) Rule of 72 

47. What do you call a one-time credit 

against taxes ? 

(A) Due credit 

(B) Tax credit 

(C) Credible credit 

(D) Revenue credit 

48. The ratio of the net income before taxes 

to net sales is called _________. 

(A) Current ratio 

(B) Inventory turnover 

(C) Profit margin ratio 

(D) Price-earnings ratio 

49. What is a measure of the average speed 

with which accounts receivable are 

collected ? 

(A) Current ratio 

(B) Quick ratio 

(C) Acid-test ratio 

(D) Receivable turnover 

50. The original record of a business 

transaction is recorded in this book : 

(A) Workbook 

(B) Journal 

(C) Ledger 

(D) Account book 

51. What is a secondary book of accounts, 

the information of which obtained from 

the journal is called ? 

(A) Balanced Sheet 

(B) Ledger 

(C) Worksheet 

(D) Trial Balance 

52. What is used to record historical 

financial transactions ? 

(A) Bookkeeping system 

(B) Ledger system 

(C) Balance check 

(D) General journal system 

53. What is another term for “current  

assets” ? 

(A) Fixed assets 

(B) Non-liquid assets 

(C) Liquid assets 

(D) Cash 
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54. What refers to the interest rate at which 

the present work of the cash flow on a 

project is zero of the interest earned by 

an investment ? 

(A) Economic return 

(B) Yield 

(C) Rate of return  

(D) Return of investment  

55. Lands, buildings, plants and machineries 

are examples of what type of asset ? 

(A) Current asset 

(B) Trade investment asset 

(C) Fixed asset 

(D) Intangible asset 

56. The profit derived from a project or 

business enterprise without consideration 

of obligations to financial contributors 

and claims of others based on profit is 

known as ___________. 

(A) Yield 

(B) Economic return 

(C) Earning value 

(D) Gain 

57. What represents the share of participation 

in business organizations ? 

(A) Franchise 

(B) Partnership 

(C) Stock 

(D) Corporation 

58. Cash money and credit necessary to 

establish and operate an enterprise are 

generally called _________. 

(A) Capital 

(B) Funds 

(C) Assets 

(D) Liabilities 

59. What refers to the residual value of a 

company’s assets after all outside 

liabilities (shareholders excluded) have 

been allowed for ? 

(A) Dividend 

(B) Equity 

(C) Return 

(D) Par value 

60. The amount of company’s profit that the 

Board of Directors of the corporation 

decides to distribute to ordinary 

shareholders is called __________. 

(A) Dividend 

(B) Return 

(C) Share of stock 

(D) Equity 

 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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